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Attempt any five questions.
All questions- carry equal marks.
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Explain the concept of scarcity, choice and
opportunity cost with the help of Production Possibility

Curve.

Discuss the factors responsible for shifts in the demand

curve. 128
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Explain with the help of an example, the relation between

ptice elasticity of demand and total expenditure on the

commodity.

From the market demand schedule for oranges given ahead,

calculate price elasticity of demand if price falls from
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Rs. 80 per dozen to Rs.

) 7521

70 per dozen : 10,10
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(@) Define indifference curve. Explain its properties in detail.

(6) Draw indifference curves when X and Y commodities

are :
() Perfect substitutes
@) Perfegt complements

(iif)  When X is a neutral commodity. 11,9
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(@) Differentiate between ‘returns to a factor’ and ‘returns to

scale.

b) Calculate TFC, TVC, AVC, AFC, AC and MC from the given -

data :
Outpﬁt Unit TC (Rs.)
0 60
1 %0
2 100
3 ] 105
4 115
5 135
6 180 8,12
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5 s
6 180

Show the equilibrium position of a firm in short run in perfect
competition. What v;/il_l happen to industry’s supply curve, if maﬁy
firms join the industry ? Show the long run equilibrium of the
firm in question. 2
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Distinguish between Monopoly and Monopblistic' Competition..
Explain firm’s equilibrium under both (monopoly and monopolistic
competition) and show that both the market structures produce

inefficient output levels. 20
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Explain the concept of Economic Rent. Show how rent earned
by a factor depends upon the elasticity of supply of the

factor. 20
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8. Write short notes on any two -
(a) Price ceiling policy and black economy
b) Price discrimination under monopoly
(0 Prisoners’ Dilemma. 10,10
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